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7= J = EOIZ oI5t B2 | M=20 [HE &8 e
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HESH (12,739) (62,582) - (75,321)
JIEHHEISEdH (27,217) (98,221) - (125,438)
En| (23,437) 1,566,920 6,846 1,550,329
oINS (5,156) 344,722 1,506 341,072
HOIMS W BHHS SN (18,281) 1,222,198 5,340 1,209,257
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_ e eSp]len
T = 0IXIE(% = o 0IXIE(% = o
01012 7.0~75 377,166 7.0~8.47 153,038
=2 E 3.35-3.6 55500 | 3.6~3.7 48,000
UBHII2CHE 4.0~11.0 107,326,688 | 3.0~12.0 120,395,042
ZE=RE 3.4~8.0 72,112,305 | 3.2~8.59 51,786,642
AL IR Z2(%) - 44,781 - 57,255
A 3 179,916,529 172,430,977
0CIIEROHIR - (387,037) - (397,748)
esg2 - (8,335,651) - (7,644,563)
s | 171,198,841 164,397,666
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Pabe AL Ay L By AR oA AEF tate] o] FoS 3
=2 gES 5 dsud
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HOI0f CHEH CHS XID1XH=2] 20% OILHOILAL 12 100242
HOI0| OF:! AFIXION CHEE CHE | KIDIXH=S] 20% OILHOIAL 11 50242
XISHE DIEt SBARIKIZUE | RDIXH=2] 20% OILHONIAL BHEH ARl ARXH2 OILY
pJ[SANES X IRH=2] 20% OILHOIA £ 1) 8212
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4yt
@O Gt
(B9 : &)
2= 3OHE OILH(x1) | 6IHE OILK IER [SE g
el i= 377,166 - - 377,166
GBSl S 30,000 22,500 3,000 55,500
SEIN=NES 32,422,984 36,064,857 24,933,914 13,904,933 107,326,688
SESEU=E 18,845,699 21,793,695 30,547,190 925,811 72,112,395
0 FPS DI PN == 44,781 - - 44,781
g A 51,720,630 57,881,052 55,484,104 14,830,744 179,916,529
@ 7%
(B9l : &)
- 30K OILH(x1) |  6IH& OILK 14 OILH 19 =1t g A
el i= 153,038 - - 153,038
I ESE=RlN ES 48,000 - - 48,000
B2 UE 38,433,781 21,369,522 48,519,859 12,071,880 120,395,042
SESEU= 8,758,314 19,819,799 23,208,507 51,786,642
(0 PP PN == 57,255 - - 57,255
g A 47,450,388 41,189,321 71,728,366 12,071,902 172,439,977

(3) a7zt Al HEAA2 A SldtEAAolH =l gt
2 BE gev 2y
(49l : ®)
cHb| 2t |2
TE S0 HIS S0 i
ol o 158,195,629 87.93% 150,241,689 87.13%
o 2 21,720,900 12.07% 22,198,268 12.87%
P 179,916,529 100.00% 172,439,977 100.00%
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=sXEEY 23,749,773 13.20% 22,826,443
OO0 7,160,293 3.98% 4,809,655
JHRIAHI A 2,397,500 1.33% 2,372,322
FSAMAAU 32,884,450 18.28% 36,852,940
A Al 380,000 0.21% 380,000
=SSMEY 5,551,611 3.09% 5,584,944
Ol=, A= & GOREAAMEIAY 9,356,928 5.20% 5,455,000
SFED 2,000,000 1.11% 2,000,000
PN[EnS=e 18,825,706 10.46% 22,611,939
PFCH= 17,907,720 9.95% 16,123,186
gAY 1,807,042 1.00% 1,873,518
38,024 0.02% 562,700
8,939,331 4.97% 7,505,197
EAS | 158,195,629 87.93% 150,241,689
WES 7,443,186 4.14% 5,980,082
WES 475,000 0.26% 475,000
= 4,416,117 2.45% 6,335,733
9,386,597 5.22% 9,407,473
EAS | 21,720,900 12.07% 22,198,288
Al 179,916,529 100.00% 172,439,977
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O Grt7|e
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ERERUS 45,320,939 26,791,456 - - - 72,112,395
CISEPINES - - 27,415 - 17,366 44,781
2 A 119,924,941 48,526,546 10,187,931 327,944 949,167 | 179,916,529
ZEAAMNZ 67,549 - - - - 67,549
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13. o =4}

(1) Ra7| 7=

2 @A iAo e

- = OIXH=(% e S,
7=l
2S0= 0.2 640,913 1,497,244
2= - 40,849 5,967
IS As=0= 1.1 293,268 182,857
2 A 975,030 1,686,068
MN=40l=:

A=REN=S 1.5~6.0 23,39% 13,257
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"= 1.7~4.8 2,896,536 3,877,862
M M= 4.7 50,800 49,000

2 A 185,583,707 171,007,216
EEN[GIS (R, 1.5 10,209 10,148
g A 186,568,946 172,703,432
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